\$875,698.86



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 2, 2022

Progress Estin	Progress Estimate Number 7		211119-H05 Apex Paving Co.	Pay Period Start Pay Period End	July 16, 2022 August 1, 2022	Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,897,145.89 (\$51,679.01) \$1,845,466.88			
Approval Date							By User			
August 5, 2022		Generated and Approved (and should be considered Draft) at the Project Office Level b								
August 5, 2022		Revie	wed and Approved	(and should be cons	sidered Draft) at t	he Resident Engineer Level by	dowdyd			
August 5, 2022			Revi	iewed and Approved	at the Central Of	ffice Controllers Office Level by	ramses1			
Original Comp	al Completion Date Curre		urrent Completion Date Actual Completion Date		n Date	% of Current Contract Amou	unt Complete			
November	1, 2022	November 1	, 2022			90.83%				

	Milestones		
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	December 1, 2021	December 1, 2021	
Letting Date	November 19, 2021	November 19, 2021	
Notice to Proceed Date	January 3, 2022	January 3, 2022	
Open to Traffic Date			
Work Began Date			

Contract Total Pag	Contract Total Pay For Estimate No. 7										
		This Estimate	Previous	To Date							
211119-H05											
	Total Posted Items Pay	\$875,698.86	\$800,452.75	\$1,676,151.61							
	Gross Item Adjustments	\$202,669.32	\$50,481.05	\$253,150.37							
	Incentive	\$0.00	\$0.00	\$0.00							
	Disincentive	\$0.00	\$0.00	\$0.00							
	Liquidated Damage	\$0.00	\$0.00	\$0.00							
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00							
	•		\$850,933.80	\$1,929,301.98							
Contract Total Pay	yable This Estimate:	\$1,078,368.18									

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount			
J9P3705	0030	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	TONS	\$67.440	11,971.01	\$807,324.91			
	0070	4071005	TACK COAT	GAL	\$2.100	8,520	\$17,892.00			
	0150	6181000	MOBILIZATION	LS	\$46,618.960	0.25	\$11,654.74			
	0240	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$0.320	119,244	\$38,158.08			
	0250	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$0.790	847	\$669.13			
Project J9	Project J9P3705 - Total									

Contract Adjustments This Estimate

Overall - Total

No Contract Adjustments Exist on Contract

		Stillents Exist on Contract						
Line Item	<u>Aajust</u>	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3705	0030	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,460.98	\$5.64	\$8,245.77
	0030	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	973.83	\$5.64	\$5,496.30
	0030	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,710.29	\$5.64	\$9,652.88

Revision 4/1/2020 Page 1 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 2, 2022

Prog	ress Es	stimate Number 7	Contract II Prime Con		1119-H05 ex Paving Co.	Pay Period End August 1, 2022 Net Cha	Contract Am nge Order Ar Contract Am	nount (\$5	,897,145.89 1,679.01) ,845,466.88
Project Number	Line No.	Item Descrip	otion	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3705	0030	ASPHALTIC C MIXTURE PG 70-2		Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL		\$5.64	\$8,390.77
	0030	ASPHALTIC C MIXTURE PG 70-2		Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL		\$5.64	\$10,182.51
	0030	ASPHALTIC C MIXTURE PG 70-2		Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL		\$5.64	\$9,002.91
	0030	ASPHALTIC C MIXTURE PG 70-2		Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL		\$5.64	\$8,012.56
	0030	ASPHALTIC C MIXTURE PG 70-2		Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL		\$5.64	\$8,580.69
	0030	ASPHALTIC C MIXTURE PG 70-2		Other Item Adjustment	Asphalt Cement Price Adjustment	Report No. 2			\$135,736.29
	0240	COLDMILLING BIT PAVEMENT FOR OF SURFACE THICK	REMOVAL	Overrun			-1,973	\$0.32	(\$631.36)
Total									\$202,669.32

Revision 4/1/2020 Page 2 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information										
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work						
J9P3705	FAF 67-2(61)	Resurface	67	WAYNE	northbound from 0.7 miles north of Rte. 34 to south of Lodi and southbound from 3.8 to 5.6 miles south of Madison County line and 0.8 miles south of Rte. 34 to Bus. 67 at Greenville						

Revision 4/1/2020 Page 3 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptione (Bicereparioles) Time Estimate Ferrea			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9P3705, Item 4030003, Project Item Line Number 0030, Material Set 403000396, Material 0403SP095C - Superpave 9.5 mm, Des C, Acceptance Action Generic AspHigh is insufficient.	QC and QA are working with MODOT materials to resolve CRE20 system issues.	dowdyd	Overridden
Estimate Exception Type: Item Overrun: Contract 211119-H05, Contract Project J9P3705, Project Item Line Number 0240, Contract Line Item Number 0240, Item 6221001, Minor Item.	No Remark was entered by Engineer	dowdyd	Acknowledged

Revision 4/1/2020 Page 4 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)	
11119-H05	J9P3705	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$30,766.00	\$30,766.00	
		0001	0020	2153000	SHAPING SLOPES, CLASS III	15.00	-1.00	14.00	100F	14.00	\$1,135.00	\$15,890.00	
		0001	0030	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	14,974.60	0.00	14,974.60	TONS	14,943.50	\$67.44	\$1,007,789.64	
		0001	0040	4031056	ASPHALT PERFORMANCE TESTING	1.00	0.00	1.00	LS	0.00	\$2,500.00	\$0.00	
		0001	0050	4031058	INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	0.00	\$29,343.11	\$0.00	
		0001	0060	4031059	PAVER-MOUNTED THERMAL PROFILES	1.00	0.00	1.00	LS	0.00	\$5,566.57	\$0.00	
		0001	0070	4071005	TACK COAT	11,944.00	0.00	11,944.00	GAL	10,660.00	\$2.10	\$22,386.0	
		0001	0080	4134000	BITUMINOUS FOG SEAL	4,786.00	0.00	4,786.00	GAL	0.00	\$3.41	\$0.00	
		0001	0090	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	6.00	-4.00	2.00	EA	0.00	\$0.00	\$0.00	
		0001	0100	6161005	CONSTRUCTION SIGNS	1,531.00	0.00	1,531.00	SQFT	490.00	\$7.00	\$3,430.00	
		0001	0110	6161025	CHANNELIZER (TRIM LINE)	300.00	-72.00	228.00	EA	121.00	\$18.00	\$2,178.0	
		0001	0120	6161030	TYPE III MOVEABLE BARRICADE	12.00	0.00	12.00	EA	10.00	\$145.00	\$1,450.00	
		0001	0130	6161040	FLASHING ARROW PANEL	4.00	0.00	4.00	EA	1.00	\$1,000.00	\$1,000.0	
		0001	0140	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	2.00	\$1,200.00	\$2,400.0	
		0001	0150	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$46,618.96	\$46,618.9	
		0001	0160	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	1,652.00	0.00	1,652.00	LF	0.00	\$18.00	\$0.0	
		0001	0170	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	14.00	0.00	14.00	EA	0.00	\$255.00	\$0.0	
		0001	0180	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	112.00	0.00	112.00	EA	0.00	\$50.00	\$0.0	
		0001	0190	6205902A	$6\mbox{IN}.$ WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	58,237.00	0.00	58,237.00	LF	0.00	\$0.21	\$0.0	
		0001	0200	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	47,976.00	0.00	47,976.00	LF	0.00	\$0.21	\$0.0	
		0001	0210	6207001	PAVEMENT MARKING REMOVAL	5,008.00	0.00	5,008.00	LF	0.00	\$1.00	\$0.0	
		0001	0220	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	126.00	0.00	126.00	EA	0.00	\$50.00	\$0.0	
		0001	0230	6209901	MISC.OPTIONAL TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$0.00	\$0.0	
		0001	0240	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	148,977.00	0.00	148,977.00	SQYD	150,950.00	\$0.32	\$48,304.0	
		0001	0250	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,129.00	0.00	1,129.00	SQYD	988.00	\$0.79	\$780.5	
		0001	0260	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	808.20	0.00	808.20	STA	0.00	\$19.06	\$0.0	
		0010	0270	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	13,300.00	-998.00	12,302.00	LF	12,302.00	\$33.99	\$418,144.9	
		0010	0280	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	-3.00	1.00	EA	1.00	\$3,600.00	\$3,600.0	
		0010	0290	6061080	MGS END ANCHOR	15.00	0.00	15.00	EA	15.00	\$1,255.00	\$18,825.0	
		0010	0300	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	15.00	\$3,200.00	\$48,000.0					
		0001	5001	6161033	DIRECTIONAL INDICATOR BARRICADE 0.00 72.00 72.00 EA 18.00 \$68.25								
		0010	5002	6069902	MISC.Relocate Type A Crashworthy End Terminal (MASH)	0.00	2.00	2.00	EA	2.00	\$1,680.00	\$3,360.0	
	Project J	9P3705 - To	otal Value	Posted to D	ate as of Report Generated Date							\$1,676,151.6	
1119-H05 Ove	erall - Total	Value Pos	ted to Da	te as of Repo	ort Generated Date							\$1,676,151.6	

Revision 4/1/2020 Page 5 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9P3705

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	4030003	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	7/18/22	8/2/22	1,460.98	TONS	SB Rte 67 Lane 2 Segment C	144.218		146.018		Daily Tickets
			7/19/22	8/2/22	973.83	TONS	SB Rte 67 Lane 2 segment C	146.018		147.450		Daily Ticket
			7/20/22	8/2/22	1,710.29	TONS	SB Rte 67 Lane 1 Segment A	136.685		138.536		Daily Ticket
			7/21/22	8/2/22	1,486.67	TONS	SB Rte 67 Lane 2 Segment A	136.685		138.536		Daily Tickets
			7/22/22	8/2/22	1,804.13	TONS	NB Rte 67 Lane 1 Segment B	54.892		56.892		Daily Tickets
			7/27/22	8/2/22	1,595.13	TONS	NB Rte 67 Lane 1 Segment B	56.892		58.592		Daily Tickets
			7/29/22	8/2/22	1,419.66	TONS	NB Rte 67 Lane 2 Segment B	54.892		56.692		Daily Tickets
			8/1/22	8/2/22	1,520.32	TONS	NB Rte 67 Lane 2 Segment B	56.692		58.592		Daily Tickets
0070	4071005	TACK COAT	7/18/22	8/2/22	968.00	GAL	SB Rte 67 Lane 2 segment C	144.218		146.018		Daily Ticket
			7/19/22	8/2/22	774.00	GAL	SB Rte 67 Lane 1 Segment C	146.018		147.450		Daily Ticket
			7/20/22	8/2/22	1,016.00	GAL	SB Rte 67 Lane 1 Segment A	136.685		138.536		Daily Ticket
			7/21/22	8/2/22	968.00	GAL	SB Rte 67 Lane 2 Segment A	136.685		138.536		Daily Ticket
			7/22/22	8/2/22	1,355.00	GAL	NB Rte 67 Lane 1 Segment B	54.892		56.892		Daily Ticket
			7/27/22	8/2/22	1,216.00	GAL	NB Rte 67 Lane 1 Segment B	56.892		58.592		Daily Ticket
			7/29/22	8/2/22	1,065.00	GAL	NB Rte 67 Lane 2 Segment B	54.892		56.692		Daily Ticket
			8/1/22	8/2/22	1,158.00	GAL	NB Rte 67 Lane 2 Segment B	56.692		58.592		Daily Ticket Round to nearest 10 Gal
0150	6181000	MOBILIZATION	8/1/22	8/2/22	0.25	LS	NB & SB Rte 67 Log Mile 54.892 to 147.260	54.892		147.260		Last Partial Payment
0240	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	7/18/22	8/2/22	14,464.00	SQYD	SB Rte 67 Lane 2 Segment C	144.218		146.018		9504' - 206' (Bridge A0257) = (9298' x 14')/9
			7/19/22	8/2/22	10,587.00	SQYD	SB Rte 67 Lane 2 Segment C	146.018		147.450		(6806' x 14')/9
			7/20/22	8/2/22	16,381.00	SQYD	SB Rte 67 Lane 1 Segment A	136.685		138.536		9773' - 982' (two crossovers) - 313' (Bridge A0070) = (8478' x 16')/9 + (982' x 12')/9
			7/21/22	8/2/22	14,716.00	SQYD	SB Rte 67 Lane 2 Segment A	136.685		138.536		9773' - 313' (Bridge A0070) = (9460' x 14')/9
			7/22/22	8/2/22	18,324.00	SQYD	NB Rte 67 Lane 1 Segment B	54.892		56.892		10560' - 993' (two crossovers) = (9567' x 16')/9 + (993' x 12')/9 = 18332 sy - 8 sy (four drop inlets)
			7/27/22	8/2/22	15,732.00	SQYD	NB Rte 67 Lane 1 Segment B	56.892		58.592		8976' - 507' (one crossover) = (8469' x 16')/9 + (507' x 12')/9
			7/29/22	8/2/22	14,787.00	SQYD	NB Rte 67 Lane 2 Segment B	54.892		56.692		(9506' x 14')/9
			8/1/22	8/2/22	14,253.00	SQYD	NB Rte 67 Lane 2 Segment B	56.692		58.592		(10030' x 14')/9 Corrections: 7/13 Add 34sy, 7/14 Deduct 1383
0250	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	7/18/22	8/2/22	282.00	SQYD	SB Rte 67 Lane 2 Segment C	144.276		144.315		Bridge A0257
			7/20/22	8/2/22	282.50	SQYD	SB Rte 67 Lane 1 Segment A	138.246		138.328		Bridge A0070
			7/21/22	8/2/22	282.50	SQYD	SB Rte 67 Lane 2 Segment A	138.246		138.328		Bridge A0070

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 4/1/2020 Page 6 of 7

Aug 6, 2022



Line Item Adjustments by Estimate

Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
			Турс	Туре	Number	Date	Бу		
J9P3705	0030	ASPH. CONC. MIXTURE PG 70-22	Other Item Adjustment	ACAD	6	Jul 18, 2022	granaj1	\$33,704.32	Report 1
		(SP095C)			7	Aug 4, 2022	roberg5	\$135,736.29	Report No. 2
				ACAD - Tota	ıl			\$169,440.61	
			Other Item	Adjustment -	Total			\$169,440.61	
			Price FUEL		6	Jul 18, 2022	SYSTEM	\$16,776.73	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	Aug 2, 2022	SYSTEM	\$67,564.39	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$84,341.12	
			Price FUEL	- Total				\$84,341.12	
	0030 -	Total						\$253,781.73	
	0240	COLDMILLING BIT. PAVT FOR REM OF	Overrun	Overrun	7	Aug 5, 2022	SYSTEM	(\$631.36)	
		SURF.		Overrun - Total				(\$631.36)	
			Overrun - T	otal				(\$631.36)	
	0240 - Total								
J9P3705 -	J9P3705 - Total								
Overall -	Overall - Total								